
න
1

1 + 4𝑥ଶ
⎯⎯⎯⎯⎯⎯⎯ 𝑑𝑥

 

 

න
1

1 + (2𝑥)ଶ
⎯⎯⎯⎯⎯⎯⎯⎯⎯ 𝑑𝑥

 

 

   
1

2
⎯⎯ tanିଵ 2𝑥 + 𝐶

Check : Take 
the Derivative

  𝑢 = 2𝑥
𝑑𝑢

𝑑𝑥
⎯⎯⎯= 2

𝑑𝑥 =
𝑑𝑢

2
⎯⎯⎯

    න
5

1 + 𝑥ଶ
⎯⎯⎯⎯⎯⎯ 𝑑𝑥

 

 

5 න
1

1 + 𝑥ଶ
⎯⎯⎯⎯⎯⎯ 𝑑𝑥
 

 

     5 tanିଵ 𝑥 + 𝐶

න
1

9 + 9𝑥ଶ
⎯⎯⎯⎯⎯⎯⎯ 𝑑𝑥

 

 

න
1

9(1 + 𝑥ଶ)
⎯⎯⎯⎯⎯⎯⎯⎯⎯ 𝑑𝑥

 

 
1

9
⎯⎯න

1

1 + 𝑥ଶ
⎯⎯⎯⎯⎯⎯ 𝑑𝑥

 

 

     
1

9
⎯⎯tanିଵ 𝑥 + 𝐶

    න
1

9 + 𝑥ଶ
⎯⎯⎯⎯⎯⎯ 𝑑𝑥
 

 
1

9
⎯⎯න

1

1 + ቀ
𝑥
3⎯⎯ቁ

ଶ⎯⎯⎯⎯⎯⎯⎯⎯ 𝑑𝑥
 

 

 
1

9
⎯⎯× 3 tanିଵ ቀ

𝑥

3
⎯⎯ቁ + 𝐶

        
1

3
⎯⎯tanିଵ ቀ

𝑥

3
⎯⎯ቁ + 𝐶

      9 + 𝑥ଶ

9 ቆ1 +
𝑥ଶ

9
⎯⎯⎯ቇ

    9 ቆ1 + ቀ
𝑥

3
⎯⎯ቁ

ଶ

ቇ

𝑢 =
𝑥

3
⎯⎯න

1

1 + ቀ
𝑥
3⎯⎯ቁ

ଶ⎯⎯⎯⎯⎯⎯⎯⎯ 𝑑𝑥
 

 

    3 tanିଵ ቀ
𝑥

3
⎯⎯ቁ + 𝐶

Factor

Separate 
Exponents

Reverse
Chain

න
1

1 + 𝑢ଶ
⎯⎯⎯⎯⎯⎯

𝑑𝑢

2
⎯⎯⎯

 

 
1

2
⎯⎯tanିଵ 𝑢 + 𝐶

ඥ4 − 𝑥ଶ
⎯⎯⎯⎯⎯⎯ 

ඨ4 ቆ1 −
𝑥ଶ

4
⎯⎯⎯ቇ

⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯
 

   2ඨ1 − ቀ
𝑥

2
⎯⎯ቁ

ଶ
⎯⎯⎯⎯⎯⎯⎯⎯

 

    න
1

√4 − 𝑥ଶ⎯⎯⎯⎯⎯⎯ ⎯⎯⎯⎯⎯⎯⎯ 𝑑𝑥
 

 
1

2
⎯⎯න

1

ට(1 − ቀ
𝑥
2⎯⎯ቁ

ଶ
⎯⎯⎯⎯⎯⎯⎯⎯⎯

 
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ 𝑑𝑥

 

 

     
1

2
⎯⎯2 sinିଵ ቀ

𝑥

2
⎯⎯ቁ + 𝐶

            sinିଵ ቀ
𝑥

2
⎯⎯ቁ + 𝐶

න
1

ට1 − ቀ
𝑥
2⎯⎯ቁ

ଶ
⎯⎯⎯⎯⎯⎯⎯⎯

 
⎯⎯⎯⎯⎯⎯⎯⎯⎯ 𝑑𝑥

 

 

  2 sinିଵ ቀ
𝑥

2
⎯⎯ቁ + 𝐶

𝑢 =
𝑥

2
⎯⎯

Reverse
Chain

න
1

√4 − 𝑥ଶ⎯⎯⎯⎯⎯⎯ ⎯⎯⎯⎯⎯⎯⎯ 𝑑𝑥
 

 

න
1

√2ଶ − 𝑥ଶ⎯⎯⎯⎯⎯⎯⎯ ⎯⎯⎯⎯⎯⎯⎯⎯ 𝑑𝑥
 

 

    sinିଵ ቀ
𝑥

2
⎯⎯ቁ + 𝐶

න
1

√2 − 𝑥ଶ⎯⎯⎯⎯⎯⎯ ⎯⎯⎯⎯⎯⎯⎯ 𝑑𝑥
 

 

න
1

ඥ1 − (𝑥 − 1)ଶ⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ 
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ 𝑑𝑥

 

 

sinିଵ(𝑥 + 1) + 𝐶

2𝑥 − 𝑥ଶ

−(𝑥ଶ − 2𝑥)
−(𝑥ଶ − 2𝑥 + 1 − 1)
−(𝑥ଶ − 2𝑥 + 1) + 1
−(𝑥 − 1)ଶ + 1
1 − (𝑥 − 1)ଶ

Complete
Square

න
1

√1 − 4𝑥ଶ⎯⎯⎯⎯⎯⎯⎯ ⎯⎯⎯⎯⎯⎯⎯⎯ 𝑑𝑥
 

 

න
1

ඥ1 − (2𝑥)ଶ⎯⎯⎯⎯⎯⎯⎯⎯⎯ 
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ 𝑑𝑥

 

 

 
1

2
⎯⎯sinିଵ(2𝑥) + 𝐶

  𝑢 = 2𝑥
𝑑𝑢

𝑑𝑥
⎯⎯⎯= 2

𝑑𝑥 =
𝑑𝑢

2
⎯⎯⎯

Reverse
Chain

න −
1

√1 − 16𝑥ଶ⎯⎯⎯⎯⎯⎯⎯⎯ ⎯⎯⎯⎯⎯⎯⎯⎯⎯ 𝑑𝑥
 

 

න −
1

ඥ1 − (4𝑥)ଶ⎯⎯⎯⎯⎯⎯⎯⎯⎯ 
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ 𝑑𝑥

 

 

        
cosିଵ 4𝑥

4
⎯⎯⎯⎯⎯⎯⎯⎯+ 𝐶

න
1

5𝑥√25𝑥ଶ − 1
⎯⎯⎯⎯⎯⎯⎯⎯ ⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ 𝑑𝑥

 

 

න
1

5𝑥ඥ(5𝑥)ଶ − 1
⎯⎯⎯⎯⎯⎯⎯⎯⎯ 

⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ 𝑑𝑥
 

 

     
secିଵ 5𝑥

5
⎯⎯⎯⎯⎯⎯⎯⎯+ 𝐶

න −
1

1 + 36𝑥ଶ
⎯⎯⎯⎯⎯⎯⎯⎯ 𝑑𝑥

 

 

න −
1

1 + (6𝑥)ଶ
⎯⎯⎯⎯⎯⎯⎯⎯⎯ 𝑑𝑥

 

 

        
cotିଵ 6𝑥

6
⎯⎯⎯⎯⎯⎯⎯⎯+ 𝐶

න
1

9 + 36𝑥ଶ
⎯⎯⎯⎯⎯⎯⎯⎯ 𝑑𝑥

 

 

න
1

9(1 + 4𝑥ଶ)
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ 𝑑𝑥

 

 
1

9
⎯⎯න

1

1 + (2𝑥)ଶ
⎯⎯⎯⎯⎯⎯⎯⎯⎯ 𝑑𝑥

 

 

   
1

9
⎯⎯ 

tanିଵ 2𝑥

2
⎯⎯⎯⎯⎯⎯⎯⎯+ 𝐶

   
1

18
⎯⎯⎯tanିଵ 2𝑥 + 𝐶

න
1

9 + 36𝑥ଶ
⎯⎯⎯⎯⎯⎯⎯⎯ 𝑑𝑥

 

 

න
1

3ଶ + (6𝑥)ଶ
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ 𝑑𝑥

 

 

1

3
⎯⎯

tanିଵ ቀ
6𝑥
3⎯⎯⎯ቁ

6
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯+ 𝐶

 
1

18
⎯⎯⎯tanିଵ 2𝑥 + 𝐶

    න
4

1 + 4𝑥ଶ
⎯⎯⎯⎯⎯⎯⎯ 𝑑𝑥

 

 

4 න
1

1 + (2𝑥)ଶ
⎯⎯⎯⎯⎯⎯⎯⎯⎯ 𝑑𝑥

 

 

4 ×
tanିଵ 2𝑥

2
⎯⎯⎯⎯⎯⎯⎯⎯+ 𝐶

2 tanିଵ 2𝑥 + 𝐶

    න
4𝑥

1 + 4𝑥ଶ
⎯⎯⎯⎯⎯⎯⎯ 𝑑𝑥

 

 

4 න
𝑥

𝑢
⎯⎯  

𝑑𝑢

8𝑥
⎯⎯⎯

 

 
1

2
⎯⎯න

1

𝑢
⎯⎯  𝑑𝑢

 

 

        
1

2
⎯⎯𝑙𝑛𝑢 + 𝐶

        
1

2
⎯⎯ln(1 + 4𝑥ଶ) + 𝐶

න
4𝑥ଶ 

1 + 4𝑥ଶ
⎯⎯⎯⎯⎯⎯⎯ 𝑑𝑥

 

 

න
4𝑥ଶ + 1 − 1 

1 + 4𝑥ଶ
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ 𝑑𝑥

 

 

න
4𝑥ଶ + 1 

1 + 4𝑥ଶ
⎯⎯⎯⎯⎯⎯⎯  𝑑𝑥

 

 

− න
1

1 + 4𝑥ଶ
⎯⎯⎯⎯⎯⎯⎯ 𝑑𝑥

 

 

න1 𝑑𝑥
 

 

− න
1

1 + 4𝑥ଶ
⎯⎯⎯⎯⎯⎯⎯ 𝑑𝑥

 

 

𝑥 −
tanିଵ 2𝑥

2
⎯⎯⎯⎯⎯⎯⎯⎯

   𝑢 = 1 + 4𝑥ଶ

𝑑𝑢

𝑑𝑥
⎯⎯⎯= 8𝑥

𝑑𝑥 =
𝑑𝑢

8𝑥
⎯⎯⎯

න
1

√1 − 𝑢ଶ⎯⎯⎯⎯⎯⎯ ⎯⎯⎯⎯⎯⎯⎯
𝑑𝑢

2
⎯⎯⎯

 

 
1

2
⎯⎯sinିଵ 𝑢 + 𝑐
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